
amazone
bomford
bougault
browns
cousins
dalso
einbock
farmforce/ jackpot
john deere
horsch
howard
kockerling
kongslide
kverneland
lely
lemken
markstig
opico
pottinger
ransome
rekord
relgieux-freres
rau
sabre (superior)
simba
skh
tasker
vaderstad
vicon
wiberg
wilrich
harrow discs

2-3
3-4
4-5

5
6
7
7
8
8
9

10
11

12-14
15
16

16-19
19

19-20
20-21

21
21
22
22
23

24-29
29
29

30-33
34
34
34

35-36

www.pananglia.com       Follow us on social media @pananglia

cultivators



2   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

amazone

amazone

Centaur

Pegasus

a
m

a
zo

n
e

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit amazone pegasus

1 Frog PA-05710 4679105 1 x M12 X 60mm PA-00954B10
2 Point PA-05706 XL018 1 x M12 x 35mm  PA-0095110
3 Point - Tungsten AG-05706 1 x M12 x 40mm  PA-0095210
4 Cranked Wing RH PA-05717 3374420 2 x M12 x 30mm Fine PA-0570810
- Cranked Wing LH PA-05718 3374421 2 x M12 x 30mm Fine PA-0570810
5 Cranked Wing RH - Tungsten AG-05717 2 x M12 x 40mm Fine PA-05708A10
- Cranked Wing LH - Tungsten AG-05718 2 x M12 x 40mm Fine PA-05708A10
6 Guideboard RH PA-05711 3374398 1 x M12 x 65mm (12.9) PA-0571410
- Guideboard LH PA-05712 3374399 1 x M12 x 65mm (12.9) PA-0571410
7 Guideboard Centre PA-05713 3374395 1 x M12 x 65mm (12.9) PA-0571410

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit amazone centaur

1 Coil Tine 35mm Sq RH PA-07618RH HC117
- Coil Tine 35mm Sq LH PA-07618LH HC118
2 Share Point PA-07617 HC120 2 x M12 x 65mm PA-0098810
3 Reversible Chisel Point PA-07619 HC119 2 x M12 x 65mm PA-0098810

1

2

3

1

2

3

5

6
7

4



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

3

Cenius/ Ceus 
Amazone

b
o

m
fo

r
d

   
| 

  a
m

a
zo

n
e

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit amazone Cenius/Ceus

1 Share 50mm PA-06000 5155828
2 Share 80mm PA-06001 5150576

BOMFORD 

1

1 2

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit bomford

1 Coil Tine 1" Sq RH PA-01627RH
- Coil Tine 1" Sq LH PA-01627LH

Coil Tine Clamp Set PA-01653A
2 Lo-Draft Reversible Point PA-01631 0171201 2 x 7/16" x 50mm PA-0091510
3 Point 1.5" PA-01604 0136701 2 x 7/16" x 45mm PA-0091410
3 Point 2" PA-01607 2 x 7/16" x 45mm PA-0091410
3 Point 2.5" PA-01605 2 x 7/16" x 45mm PA-0091410
3 Point 3" PA-01606 2 x 7/16" x 45mm PA-0091410
4 Cranked Point 3" RH PA-01627CRH 2 x M10 x 50mm PA-0094510
- Cranked Point 3" LH PA-01627CLH 2 x M10 x 50mm PA-0094510
5 A-Share Point 7" PA-01926 2 x 7/16" x 45mm PA-0091410
6 Stubble board RH PA-01627BRH
- Stubble board LH PA-01627BLH

5 6

2

3

4



4   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

bomford

Bourgault

Superflow

B
O

U
R

G
A

U
LT

   
| 

  B
O

M
FO

R
D

1

2

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Bourgault

1 Speed-Loc Adaptor 57mm Hole Spacing PA-07413 200-QCA-5010 2 x M12 x 70mm PA-00954A10
1 Speed-Loc Adaptor 45mm Hole Spacing PA-07418 200-QCA-4700 2 x M12 x 70mm PA-00954A10
1 Speed-Loc Adaptor 45mm Hole Spacing PA-07423 200-QCA-4710 2 x M12 x 70mm PA-00954A10
1 Speed-Loc Adaptor 63-80mm Hole Spacing PA-07424 200-QCA-5020 2 x M12 x 70mm PA-00954A10

Replacement Lock Pin For Speed-Loc Adaptors PA-07419 200-SLC-1020
Replacement Button For Speed-loc Adaptors (Except PA-07418) PA-07420 200-SLC-1035

12

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit bomford superflow

1 Frog PA-01632 0044202
2 Point PA-01600 0048701 2 x 7/16 x 35mm PA-0091210

Shear Bolt 7/16" x 1/2" (10pk) 40-71621210 0043209 1 x 7/16" Nut 63-71610
Pivot Bolt M16 x 60mm (10pk) 50-1606010 0510201 1 x M16 Nut 65-1610

3

4

5

6

7

8

9

10

11

12

15

14

13



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

5

Bourgault

browns

b
r

o
w

n
s

   
| 

  B
O

U
R

G
A

U
LT

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Bourgault

1 Speed-Loc Adaptor 63-80mm Hole Spacing PA-07424 200-QCA-5020 2 x M12 x 70mm PA-00954A10
Replacement Lock Pin For Speed-Loc Adaptors PA-07419 200-SLC-1020
Replacement Button For Speed-loc Adaptors (Except PA-07418) PA-07420 200-SLC-1035
Replacement Button For Speed-loc Adaptors (PA-07418 Only) PA-07422 200-SLC-1030

2 Speed-Loc Release Tool PA-07414 200-REL-1010
3 Spoon Opener Point 3" (76mm) 8mm Thick PA-07409 200-SPN-0308
4 Press Point 2" (50mm) 15mm Thick PA-07406 200-SPK-0200
5 Press Point 2" (50mm) 15mm Thick Extended Wear Pad PA-07403 200-SPK-0215
6 A-Share Point 4"(100mm) 6mm Thick PA-07421 200-PWV-400
7 A-Share Point 4" (100mm) 8mm Thick Extended Wear Pad PA-07416 200-PWV-0428
8 A-Share Point 5 1/2"(140mm) 6mm Thick PA-07401 200-PWV-0508
9 A-Share Point 5 1/2" (140mm) 8mm Thick Extended Wear Pad PA-07415 200-PWV-0528
10 A-Share Point 7" (180mm) 8mm Thick PA-07405 200-PWV-0708
11 A-Share Point 9" (230mm) 8mm Thick PA-07410 200-PWV-0908
11 A-Share Point 9" (230mm) 8mm Thick Extended Wear Pad PA-07417 200-PWV-0928
12 A-Share Point 10" (255mm) 8mm Thick PA-07425 200-PWV-1008
13 A-Share Point 12" (305mm) 8mm Thick PA-02081 200-PWV-1208
14 A-Share Point 13" (330mm) 8mm Thick PA-07407 200-PWV-1308
15 A-Share Point 16 1/4" (420mm) 8mm Thick PA-07426 200-PWV-1608

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit BROWNS

1 Hectavator Top Spring PA-07011 90732 1 x M10 Stirrup Bolt &
1 x M16 x 40mm &
4 x M14 x 55mm

SP-11095(single)

50-1604010
50-1405510

2 Hectavator Lower Leg PA-07010 90733
3 Hectavator Point 2 1/2" PA-01880 2 x M12 x 48mm PA-0095710
4 Point 2 1/2" - Tungsten AG-01880 2 x M12 x 48mm PA-0095710
5 Hectavator Point 4" PA-09038A 51879 2 x M12 x 48mm PA-0095710
6 Panbuster Point 3" PA-01602 PB11 2 x 1/2" x 45mm PA-0092610
7 Leaf Spring Tine PA-01641 2 x M12 x 55mm PA-0094910

Chance Point 2 1/2" PA-01603 2 x 1/2" x 45mm PA-0092610

1

7

2

3456



6   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

1

6

cousins

C
O

U
S

IN
S

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit cousins

1 Coil Tine 1" Sq RH PA-01627RH
- Coil Tine 1" Sq LH PA-01627LH
2 Stubble Board RH PA-01627BRH 2 x 7/16" x 45mm PA-0091410
- Stubble Board LH PA-01627BLH 2 x 7/16" x 45mm PA-0091410
3 Cranked Point 3" RH PA-01627CRH 2 x 7/16" x 45mm PA-0091410
- Cranked Point 3" LH PA-01627CLH 2 x 7/16" x 45mm PA-0091410
4 Reversible Chisel Point 15" PA-01619A 1 x 1/2" x 60mm &

1 x M12 x 80mm (10.9) 
PA-00928A10
PA-0088510

5 Point 3" PA-01606 2 x 7/16" x 45mm PA-0091410
6 Stubble Buster Share PA-07755
7 Mini S Tine PA-07002
8 Point For Mini S Tine PA-00318 1 x M10 x 40mm 

Oval Head 
PA-0095610

9 Heavy Duty Crossboard Tine 80mm Wide PA-07568
10 Crossboard Angled Wear Pad 100mm PA-07563 2 x M12 x 35mm 

Cup Head
60-1203510

11 Levelling Harrow 7/8" PA-01830
11 Levelling Harrow 1" PA-01831

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit cousins

1 Center Scraper For Packer Roller PA-08220
2 End Scraper For Packer Roller PA-08221

1 2

cousins

6

7

9
10

11

5

8

4

3



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

7

dalso

e
in

b
o

c
k

   
| 

  d
a

ls
o

3

2

2

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit DALSO

1 Coil Tine 25mm Sq PA-01622C 104016000
1 Coil Tine 30mm Sq PA-01622D
2 Point - 2 Hole PA-01622B 2 x M12 x 50mm PA-0095410
3 Stubble Buster Share PA-07755

Einbock

1

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Einbock

1 Point PA-07037 104016000 1 x M10 x 40mm 
Oval Head

PA-0095610



8   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

Farmforce/ Jackpot 

jo
h

n
 d

e
e

r
e

   
| 

  f
a

r
m

fo
r

c
e

/ 
ja

c
k

p
o

t Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Farmforce/Jackpot

1 Jackpot Tine 32mm x 12mm x 520mm PA-07001 2 x M12 x 50mm PA-0095410
1 Jackpot Tine 45mm x 12mm x 480m PA-07016
1 Jackpot Tine 32mm x 12mm x 475mm PA-07012
1 Jackpot Tine 45mm x 12mm x 525mm PA-07014

Tine Shear Pin 16mm PA-02101
2 Point PA-01798 1 x M10 x 40mm 

Oval Head 
PA-0095610

3 Point 220mm Long PA-02103 1 x M10 x 40mm 
Oval Head

PA-0095610

4 Press Scraper Plate PA-02010 2 x M8 x 25mm
Cup Head

60-0802510

JOHN DEERE

4

4

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit JOHN DEERE

1 Point PA-01803 N506 1 x M10 x 30mm & 
1 x M10 x 45mm

PA-0094110
PA-0094410

2 Chisel Point PA-01647 YD916N 2 x 7/16" x 50mm PA-0091510
3 Twisted Point RH PA-01792ARH N130196 2 x M12 x 60mm PA-00954B10
- Twisted Point LH PA-01792ALH N130195 2 x M12 x 60mm PA-00954B10
4 A-share Point 10" PA-07060 N182041 2 x 7/16" x 40mm PA-0091310

1
3

2

1

2

3



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

9

h
o

r
s

c
h

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Horsch Terrano FG/ FX/ MT/ FM

1 A-Share Point 3" / 75mm PA-07678 H00310234
2 A-Share Point 9" / 230mm PA-07679 H00310233
2 A-Share Point 11" / 280mm PA-07689 H00310232
2 A-Share Point 13" / 330mm PA-07680 H00310242
2 A-Share Point 15" / 380mm PA-07682 H00310247
3 Point PA-07685 34060850 1 x M12 x 80mm (10.9) &

1 x M12 Flanged Nut
PA-0088510
68-1210

4 Point - Tungsten AG-07685 34060850 1 x M12 x 80mm (10.9) &
1 x M12 Flanged Nut

PA-0088510
68-1210

5 Point – Tungsten Square Tip AG-07685B 34060850 1 x M12 x 80mm (10.9) &
1 x M12 Flanged Nut

PA-0088510
68-1210

6 Share 50mm PA-06000 5155828
7 Share 80mm PA-06001 5150576
8 Wing RH PA-07683 34060857 2 x M12 x 60mm (10.9) & PA-0769010
9 Wing LH PA-07684 34060856 2 x M12 Nyloc Nut 65-1210
10 Wing RH - Tungsten AG-07683 34060857 2 x M12 x 60mm (10.9) & PA-0769010
11 Wing LH - Tungsten AG-07684 34060856 2 x M12 Nyloc Nut 65-1210
12 Guideboard RH 270mm x 80mm PA-07687 34060863 1 x M12 x 80mm (10.9) & PA-0088510
- Guideboard LH 270mm x 80mm PA-07686 34060862 1 x M12 Flanged Nut 68-1210
13 Following Tine (Curved) PA-07688 34217502
14 Following Tine (Straight) PA-07681 00430507
15 Long Guideboard RH 420mm x 80mm (Post 2011) PA-08300 34060859 1 x M12 x 80mm (10.9) PA-0088510
- Long Guideboard LH 420mm x 80mm (Post 2011) PA-08301 34060858 1 x M12 x 80mm (10.9) PA-0088510
16 Point - Tungsten - Tiger AG-07690 2 x M12 x 90mm Fine (12.9) PA-00955B10
17 Cutaways Disc 460mm (Terrano) PA-07697 23246102 3 x M12 x 20mm Hex Head 50-1202010
17 Cutaway Disc 684mm x 7mm Thick - Tiger PA-07696 00311081
17 Cutaway Disc 520mm x 6mm Thick - Joker PA-07649 28071305

Horsch
Terrano FG/ FX/ MT/ FM

1

2

3

4

5

9

8

12 15 16

11

10
14 13

17

6

7



10   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s
h

o
w

a
r

d

howard
Delta

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit howard delta

1 Frog PA-05710 4679105 1 x M12 x 60mm PA-00954B10
2 Point PA-05706 3374388 1 x M12 x 35mm  PA-0095110
3 Point - Tungsten AG-05706 1 x M12 x 60mm PA-00954B10
4 Cranked Wing RH PA-05717 3374420 2 x M12 x 30mm PA-0570810
- Cranked Wing LH PA-05718 3374421 2 x M12 x 30mm PA-0570810
5 Cranked Wing RH - Tungsten AG-05717 2 x M12 x 40mm Fine PA-05708A10
- Cranked Wing LH - Tungsten AG-05718 2 x M12 x 40mm Fine PA-05708A10
6 Guideboard RH PA-05711 3374398 1 x M12 x 65mm (12.9) PA-0571410
- Guideboard LH PA-05712 3374399 1 x M12 x 65mm (12.9) PA-0571410
7 Guideboard Centre PA-05713 3374395 1 x M12 x 65mm (12.9) PA-0571410
8 Cutaway Disc PA-05719 71209026450

1

2

3

5

86

7

4

Howard
Rigid Flex

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit howard Rigid Flex

1 Double Heart Point PA-01560 2 x M12 x 80mm PA-00954B10
2 Point 4" - Tungsten AG-18050 1 x M12 x 80mm &

1 x M12 x 65mm (12.9)
PA-0095110
PA-0098810

3 Stubble Buster Share PA-07755 1 x M12 x 65mm (12.9) PA-0098810
4 Rigid Flex Wing RH PA-07800 4102 2 x M10 x 30mm 

Dbl Nib
PA-0570810

5 Rigid Flex Wing LH PA-07801 4103 2 x M10 x 30mm 
Dbl Nib

PA-0570810

3

1
2

4

5



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

11

13

All rounder/ Quadro/ Topmix/ Trio/ Vector
Kockerling

k
o

c
k

e
r

li
n

g

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Kockerling All rounder/ Quadro/ Topmix/
Trio/ Vector

Top Spring PA-06815
Lower Leg PA-06816

1 Spring Tine (Allrounder) PA-06818 50400
2 Tine Clamp PA-06827 504003
3 Speed-Loc Adaptor 63-80mm Hole Spacing PA-07424 200-QCA-5020 2 x M12 x 70mm PA-00954A10

Replacement Lock Pin For Speed-Loc Adaptors PA-07419 200-SLC-1020
Replacement Button For Speed-Loc Adaptors (Except PA-07418) PA-07420 200-SLC-1035

4 A-Share Point 7" / 180mm Wide PA-06820 504027 2 x M10 x 70mm 
Saddle Head

PA-0178510

5 A-Share Point 7" / 180mm x 8mm Thick PA-07405 903010
6 A-Share Point 17 3/4" / 450mm PA-06804
7 Point 80mm Wide (Quadro) PA-06813 506065 1 x M12 x 85mm 

(10.9)
PA-0681210

8 Point 80mm Wide - Tungsten AG-06813 1 x M12 x 85mm 
(10.9)

PA-0681210

7 Point 100mm Wide (Topmix) PA-06808 506014 1 x M12 x 85mm 
(10.9)

PA-0681210

9 Point 100mm Wide - Tungsten AG-18050 1 x M12 x 85mm 
(10.9)

PA-0681210

10 Reversible Point 300mm Long 52mm Wide PA-08708 504009 2 x M10 x 75mm 
Saddle Head

PA-01786A10

11 Reversible Point 450mm Long 100mm Wide PA-06800 506033 2 x M12 x 60mm &
2 x M12 Spring 
Washer

PA-00954B10
72-1210

11 Reversible Point 480mm Long 100mm Wide PA-06801 900033 2 x M12 x 60mm 
2 x M12 Spring 
Washer

PA-00954B0
72-1210

11 Reversible Point 495mm Long 100mm Wide PA-06802 506008 2 x M12 x 55mm PA-009490
12 Share 50mm PA-06000 5155828
13 Share 80mm PA-06001 5150576
14 Stubble Buster Share PA-07755
14 Stubble Share 480mm Wide PA-06805 10003431
15 Stubble Share (Topmix) PA-06807 506015
16 Following Tine - Straight Single Leg (Topmix) PA-06826

3

5

1

2

8

9

16

7

4

5

6

14

10

12

11



12   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

6

k
o

n
g

s
k

il
d

e

Kongskilde
Delta

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Kongskilde delta

1 Frog PA-05710 4679105 1 x M12 x 60mm PA-00954B10
2 Point PA-05706 3374388 1 x M12 x 35mm  PA-0095110
3 Point - Tungsten AG-05706 1 x M12 x 60mm PA-00954B10
4 Cranked Wing RH PA-05717 3374420 2 x M12 x 30mm PA-0570810
- Cranked Wing LH PA-05718 3374421 2 x M12 x 30mm PA-0570810
5 Cranked Wing RH - Tungsten AG-05717 2 x M12 x 40mm Fine PA-05708A10
- Cranked Wing LH - Tungsten AG-05718 2 x M12 x 40mm Fine PA-05708A10
6 Guideboard RH PA-05711 3374398 1 x M12 x 65mm (12.9) PA-0571410
- Guideboard LH PA-05712 3374399 1 x M12 x 65mm (12.9) PA-0571410
7 Guideboard Centre PA-05713 3374395 1 x M12 x 65mm (12.9) PA-0571410
8 Cutaway Disc PA-05719 71209026450

1

2

3

5

8

7

4

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Kongskilde Germinator

1 Spring Tine PA-01797 01200236
2 Jackpot S Tine PA-07001
3 Point - Short (135mm) PA-01796 01200229 1 x M12 x 40mm 

Oval Head
PA-0095610

4 Point - Long (215mm) PA-01798 01200231 1 x M12 x 40mm 
Oval Head

PA-0095610

Kongskilde
Germinator

1 2

4

3



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

13

k
o

n
g

s
k

il
d

e

Kongskilde
Rigid Flex

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Kongskilde Rigid Flex 

1 Double Heart Point PA-01560 2 x M12 x 80mm PA-00954B10
2 Point 4" - Tungsten AG-18050 1 x M12 x 80mm &

1 x M12 x 65mm (12.9)
PA-0095110
PA-0098810

3 Stubble Buster Share PA-07755 1 x M12 x 65mm (12.9) PA-0098810
4 Rigid Flex Wing RH PA-07800 4102 2 x M10 x 30mm 

Dbl Nib
PA-0570810

5 Rigid Flex Wing LH PA-07801 4103 2 x M10 x 30mm 
Dbl Nib

PA-0570810

3

1

2

4

5



14   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

Kongskilde
Vibroflex

K
o

n
g

s
k

il
d

e

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Kongskilde Vibroflex

1 Top Spring PA-01878 105000002

2 Lower Tine PA-01879 05000128 2 x M16 x 55mm & 
2 x M16 Nyloc Nut

50-1605510
65-1610

3 Point 2 1/2" PA-01880 05000504 2 x M12 x 48mm 
Oval Head

PA-0095710

4 Point 2 1/2" - Tungsten AG-01880 2 x M12 x 48mm 
Oval Head

PA-0095710

5 Duckfoot Point 2 1/2" PA-01822A 01000642 1 x M12 x 40mm 
Oval Head

PA-0095610

6 Point 4" PA-09038A 05000518 2 x M12 x 48mm 
Oval Head

PA-0095710

7 Share PA-07008
8 S Tine PA-01800 01000636
9 Tine Clamp  - 50 x 12mm Frame 32 x 10mm Tine PA-01802 01000507 1 x M12 x 45mm &

1 x M12 Nyloc Nut
50-1204510
65-1210

10 Tine Clamp New Type - 50 x 15mm Frame 32 x 10mm Tine PA-01824A 01000507 1 x M12 x 45mm &
1 x M12 Nyloc Nut

50-1204510
65-1210

11 Super Point Pack Of 20 + Fixings PA-01801 01152241 20 x M12 x 40mm 
Oval Head

PA-0095610

12 Spring Tine Point Curved  - Tungsten AG-01801 1 x M10 x 50mm PA-01786D10
13 Spring Tine Point  Straight - Tungsten AG-01802 1 x M10 x 50mm PA-01786D10
14 Cage Roller 1m PA-07042 103000601
14 Cage Roller 0.8m PA-07043 103000602

Rotarod Spring Clip RH PA-07040 03000486
Rotarod Spring Clip LH PA-07041 03000487
Rotocrat Bearing PA-01793 103000454

15 Crossboard Tine PA-07567
16 Crossboard Angled Wear Pad 100mm PA-07563 2 x M12 x 35mm 

Cup Head
60-1203510

3

7

456

8

9

10

11

12

131516

14

1

2



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

15

Kverneland

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit KVERNELAND

1 Spring Tine PA-07001 KW111099002
2 Point (To Fit TLC/TLD) PA-07000 KK103011 1 x M12 x 40mm 

Oval Head
PA-0095610

3 Double Heart Point PA-01560 2 x M12 x 65mm (12.9) PA-0098810
4 Point 4" - Tungsten AG-18050 2 x M12 x 65mm (12.9) PA-0098810
5 Reversible Point RH PA-00603RH 053090 2 x M12 X 38mm 

KV Head
PA-00964A10

- Reversible Point LH PA-00603LH 063090 2 x M12 X 38mm 
KV Head

PA-00964A10

6 Point (To Fit CLG/CLC) PA-07032 KK303107 1 x 7/16" x 65mm
1 x 7/16" x 75mm

PA-0091710
PA-0091910

7 Wing RH (To Fit CTS/CLT) PA-07029RH 131124 2 x M12 X 38mm 
KV Head

PA-00964A10

8 Wing LH (To Fit CTS/CLT) PA-07029LH 131125 2 x M12 X 38mm 
KV Head

PA-00964A10

9 Wing RH (To Fit CTS/CLT) - Tungsten AG-07029RH 2 x M12 x 45mm PA-0095310
10 Wing LH (To Fit CTS/CLT) - Tungsten AG-07029LH 2 x M12 x 45mm PA-0095310
11 Shin (To Fit CLC/CTC) PA-07031 K301011 1 x M12 x 40mm 

Oval Head &
1 x M12 X 38mm 
KV Head

PA-0096510

PA-00964A10

1
2

3

4

11

6

5

8

10

7

9

k
v

e
r

n
e

la
n

d



16   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

lely
Tulip

le
m

k
e

n
   

| 
  l

e
ly

Lemken
Karat

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit lely tulip

1 Cutaway Disc 550mm 5 Hole Notched Centre PA-00716 760020033

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Lemken Karat

1 Point 290 x 120mm PA-05874 3374442 1 x M12 x 35mm  PA-0095110
1 Point 290 x 120mm- Hardfaced PA-05874H 3374442 1 x M12 x 35mm  PA-0095110
2 Point 290 x 120mm - Tungsten AG-05874 1 x M12 x 35mm  PA-0095110
3 Point 260 x 80mm - Hardfaced PA-05875 3377441 1 x M12 x 35mm  PA-0095110
4 Point 260 x 80mm - Tungsten AG-05875 1 x M12 x 35mm  PA-0095110
5 Share 50mm PA-06000 5155828
6 Wing RH PA-05883RH 3374460 2 x M12 x 30mm Fine PA-0570810
7 Wing LH PA-05883LH 3374461 2 x M12 x 30mm Fine PA-0570810
8 Wing RH - Tungsten AG-05883RH 2 x M12 x 40mm Fine PA-05708A10
9 Wing LH - Tungsten AG-05883LH 2 x M12 x 40mm Fine PA-05708A10
10 Guideboard RH PA-05877 3374490 1 x M12 x 35mm  PA-0095110
- Guideboard LH PA-05878 3374491 1 x M12 x 35mm  PA-0095110
11 Guideboard Centre 100mm Wide PA-05876 3374484 1 x M12 x 35mm  PA-0095110
11 Guideboard Centre 80mm Wide PA-05876N 3374484 1 x M12 x 35mm  PA-0095110

1

1

6

11

7

2

8

9

3
5

10

4



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

17

Lemken

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Lemken kristall

1 Share 50mm PA-06000 5155828
2 Wing RH PA-05720RH 3374531 2 x M12 x 70mm 

Hex Head &
50-1207010

3 Wing LH PA-05720LH 3374530 2 x M12 Nyloc Nuts 65-1210

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Lemken Karat

1 Reversible Point PA-05865 3375480 1 x M12 x 40mm 
Oval Head

PA-0095610

2 A-Share Point 10" PA-05709 3374356 1 x M12 x 40mm 
Oval Head

PA-0095610

2 3

1

2

Lemken
Kristall

LE
M

K
E

N

1



18   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

6

Lemken
Thorit

le
m

k
e

n

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Lemken Terradisc

1 Frog PA-05710 4679105 1 x M12 X 60mm PA-00954B10
2 A -Share Point 10" PA-05709 3374356 1 x M12 x 40mm 

Oval Head
PA-0095610

3 Point PA-05706 3374388 1 x M12 x 35mm  PA-0095110
4 Point - Tungsten AG-05706 1 x M12 x 40mm  PA-0095210

2

1

1

2

3

5

5

7

4

lemken
Terradisc

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Lemken Thorit

1 Point 80mm PA-05866 3374386 1 x M12 x 35mm  PA-0095110
2 Wing RH PA-05872RH 3374428 2 x M12 x 30mm Fine PA-0570810
3 Wing LH PA-05872LH 3374429 2 x M12 x 30mm Fine PA-0570810
4 Guideboard PA-05867 3374401 2 x M12 x 65mm (12.9) PA-0098810

1

2

4

3



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

19

Lemken
Terradisc

o
p

ic
o

   
| 

  m
a

r
k

s
ti

g
   

| 
  l

e
m

k
e

n

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Lemken Terradisc

5 Cranked Wing RH PA-05717 3374420 2 x M12 x 30mm Fine PA-0570810
- Cranked Wing LH PA-05718 3374421 2 x M12 x 30mm Fine PA-0570810
6 Cranked Wing RH - Tungsten AG-05717 3374420 2 x M12 x 40mm Fine PA-05708A10
- Cranked Wing LH - Tungsten AG-05718 3374421 2 x M12 x 40mm Fine PA-05708A10
7 Wing RH - Tungsten AG-05707 3374416 2 x M12 x 30mm Fine PA-0570810
- Wing LH - Tungsten AG-05707A 3374417 2 x M12 x 30mm Fine PA-0570810
8 Guideboard RH PA-05711 3374395 1 x M12 x 65mm (12.9) PA-0571410
- Guideboard LH PA-05712 3374398 1 x M12 x 65mm (12.9) PA-0571410
9 Guideboard Centre PA-05713 3374399 1 x M12 x 65mm (12.9) PA-0571410
10 Cutaway Disc PA-05719 71209026450
11 Disc Hub PA-05852 4478882

Shear Bolt M12 x 65mm (10.9) PA-05705 3013399 1 x M12 Coarse Nut 69-1210

Markstig

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Markstig

1 Spring Point PA-01804 MS31 2 x M10 x 35mm PA-0094210

1

Opico
He-Va Mega Dan

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Opico He-va Mega Dan

1 Point PA-06706 1 x M14 x 34mm PA-0096510

1



20   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

Opico

p
o

tt
in

g
e

r
   

| 
  o

p
ic

o

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Opico

1 Heavy Duty Crossboard Tine 80mm wide PA-07568
2 Crossboard Angled Wear Pad 100mm PA-07563 2 x M12 x 35mm 

Cup Head
60-1203510

3 Crossboard Angled Wear Pad 150mm PA-07580 2 x M12 x 35mm 
Cup Head

60-1203510

4 Vari-Disc PA-08130 5 x M12 x 40mm 
Hex Head &
5 x M12 Spring 
Washer

50-1204010

72-1210

5 Vari-Disc Hub PA-01553 990518
6 Vari-Tilth Point PA-01558 1 x M12 x 40mm 

Hex Head &
1 x M12 Nyloc Nut

50-1204010

65-1210
7 Heavy Duty Vari-Tilth Point 25mm Thick PA-01555 1 x M12 x 50mm 

Hex Head &
1 x M12 Nyloc Nut

50-1205010

65-1210
Vari-Tilth Shear Bolt M14 x 80mm PA-01556 1 x M14 Nyloc Nut 65-1410

5

123

6

7

5

Pottinger
Synkro

1

2

3

8

9

75

4

6



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

21

ransome

Pottinger
Synkro

r
e

k
o

r
d

   
| 

  r
a

n
s

o
m

e
   

| 
  p

o
tt

in
g

e
r

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Pottinger Synkro

1 Point PA-08250 9762500151 2 x M12 x 85mm (10.9) PA-0825110
2 Wing 280mm RH PA-08253RH 9781500300
3 Wing 280mm LH PA-08253LH 9781500200
4 Stubble Share 170mm RH PA-08252RH 9762500301 1 x M16 x 70mm 

Hex Head &
50-1607010

5 Stubble Share 170mm LH PA-08252LH 9762500201 1 x M16 nyloc nut 65-1610
6 Stubble Share 170mm RH - Hardfaced PA-08252RRH 9762500240 1 x M16 x 70mm 

Hex Head &
50-1607010

7 Stubble Share 170mm LH - Hardfaced PA-08252RLH 9762500230 1 x M16 Nyloc Nut 65-1610
8 Guideboard Narrow 272mm Long RH PA-08251RH 9762500360 1 x M12 x 90mm PA-00955B10
- Guideboard Narrow 272mm Long LH PA-08251LH 9762500370 1 x M12 x 90mm PA-00955B10
9 Guideboard Wide 290mm Long RH PA-08254RH 9791500380 1 x M12 x 90mm PA-00955B10
- Guideboard Wide 290mm Long LH PA-08254LH 9791500390 1 x M12 x 90mm PA-00955B10

REKORD

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Ransome

1 Dauntless Point 3" PA-01614 PSF0133A 1 x 7/16" x 65mm PA-0091710
2 Reversible Chisel Point PA-01619A PSF1086 1 x 1/2" x 60mm &

1 x M12 x 80mm (10.9)
PA-00928A10 
PA-0095510

3 Terratine Point PA-01646 PBA9645 1 x 1/2" x 70mm &
1 x 1/2" x 90mm

PA-0093010
PA-0093310

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit REKORD

1 Chisel Point 3 1/2" PA-01623A

1

1

2

3



22   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

Relgieux-Freres
Comdor

r
a

u
   

| 
  r

e
lg

ie
u

x-
fr

e
r

e
s

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Relgieux-Freres Comdor

1 S Tine PA-01615
2 Tine Clamp PA-01617
3 Reversible Chisel Point PA-01619A 1 x 1/2" x 60mm & 

1 x M12 x 80mm (10.9)
PA-00928A10
PA-0095510

4 Point PA-01616 1 x M8 x 33mm PA-0095910

1

2

4
3

Rau
Polymag

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Rau Polymag

1 Double Heart Point PA-01560 3746 2 x M12 x 80mm PA-0088510
2 Point 4" - Tungsten AG-18050 1 x M12 x 80mm & 

1 x M12 x 65mm (12.9)
PA-0088510
PA-0098810

3 Rigid Flex Wing RH PA-07800 4102 2 x M10 x 30mm 
Dbl Nib

PA-0089810

4 Rigid Flex Wing LH PA-07801 4103 2 x M10 x 30mm 
Dbl Nib

PA-0089810

1

2

4

3



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

23

Sabre (Superior)

s
a

b
r

e
 (

s
u

p
e

r
io

r
)

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Sabre (Superior)

1 Forged Chisel Point PA-01694 20170 2 x 7/16 x 35m PA-0091210

1



24   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

11 12

s
im

b
a

simba
Cultipress / Double-Press / Unipress / X-Press

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Simba Cultipress/ Double-press/ Unipress / x- Press

1 Leading Tine 480mm Long PA-08148 P12628
2 Leading Tine 660mm Long PA-07850 P05533
3 Leading Tine Cranked PA-08154 P12588

Shear Bolt M16 x 90mm PA-07852 P05103
Shear Bolt M16 x 70mm (Unipress) 50-16070 1 x M16 Nyloc Nut 65-1610
Tine Pin PA-07869 P05207 2 x M6 x 113mm 

R Clip
15-00014(single)

4 Speed-Loc Adaptor 57mm Hole Spacing PA-07413 200-QCA-5010 2 x M12 x 70mm PA-00954A10
Replacement Lock Pin For Speed-Loc Adaptors PA-07419 200-SLC-1020
Replacement Button For Speed-Loc Adaptors PA-07420 200-SLC-1035

5 Speed-Loc Release Tool PA-07414 200-REL-1010
6 A-Share Point 4" / 100mm x 8mm Thick Extended Wear Pad PA-07416 200-PWV-0428
7 A-Share Point 7" / 175mm PA-07889 P01583
8 A-Share Point 9" / 230mm x 8mm Thick PA-07410 200-PWV-0908
9 A-Share Point 9" / 230mm x 8mm Thick Extended Wear Pad PA-07417 200-PWV-0928
10 A-Share Point 13" / 330mm x 8mm Thick PA-07407 200-PWV-1308
11 Reversible Point 1.5" PA-01691 P03017 2 x 7/16" x 50mm PA-0091510
12 Non-Reversible Freeflow Point 11mm Thick PA-07714 P05860 2 x 7/16" x 80mm PA-0092010
12 Non-Reversible Freeflow Point 14mm Thick PA-08091 P05860 2 x 7/16" x 80mm PA-0092010

312

13

17

14

15

16

19

4

5

6

7

8

9

10

18

20



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

25

simba
Cultipress / Double-Press / Unipress / X-Press

S
IM

B
A

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Simba Cultipress/ Double-press/ Unipress / x- Press

13 Motherboard 8 Hole PA-08106 P07834 2 x M16 x 35mm 
Hex Head &
2 x M16 Nyloc Nuts

50-1603510 

65-1610
14 V Form Wear Pad 100 x 350mm PA-07895 2 x 7/16" x 32mm PA-0091210
15 Top Spring 14mm Thick PA-08147 P12573
15 Top Spring 12mm Thick PA-0814712 P12573
16 Tine Clamp PA-08167 P12524 
17 Levelling Tine PA-08156 P13416
18 Wear Pad PA-08153 1 x M10 x 35mm 

Hex Head
50-1003510

Press Roll Bearing PA-07894 P05431
Press Roll Bearing (500mm DD Rings) BE-0053

19 DD Half Ring 600mm PA-08122 P08192
20 DD Light Half Ring 600mm PA-08158 P15186

simba
Disc Harrows

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Simba DISC HARROWS

1 Cutaway Disc 20" 5 Hole PA-08130 P11462 5 x M12 x 20mm 
Hex Head

50-1202010

1 Cutaway Disc 24" 5 Hole 7mm Thick PA-08129 P14446 5 x M12 Spring 
Washer

72-1210

2 Cutaway Disc 24" 41.5mm Sq Hole PA-00714B P0278
3 Plain Disc 26" 45mm Round / 40mm Sq Hole PA-00760
2 Cutaway Disc 26" 45mm Round / 40mm Sq Hole 6mm Thick PA-00761 P0280
4 Cutaway Disc 26" 45mm Round / 40mm Sq Hole 7mm Thick PF00761 P0280
5 Plain Disc 28" PA-00767 P0281
3 Cutaway Disc 28" 46mm Round / 42mm Sq Hole 6mm Thick PA-00766 P0282
4 Cutaway Disc 28" 46mm Round / 42mm Sq Hole 7mm Thick PF00766 P0282
5 Plain Disc 30" PA-00774 P0283
2 Cutaway Disc 30" PA-00775 P0284

1 2 3

4 5



26   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

simba
ST

S
IM

B
A

1920

21

22

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit simba ST

1 Leg 650mm Long PA-08135 P13093
2 Leg 500mm Long PA-08136 P13012
3 Weld In Leg Bottom PA-08149 P13847
4 Rape Leg PA-08140 P13813
5 Weld In Rape Leg Bottom PA-08160 P16954
6 Speed-Loc Adaptor 57mm Hole Spacing PA-07413 200-QCA-5010 2 x M12 x 70mm PA-00954A10

Replacement Lock Pin For Speed-Loc Adaptors PA-07419 200-SLC-1020
Replacement Button For Speed-Loc Adaptors PA-07420 200-SLC-1035

7 Speed-Loc Release Tool PA-07414 200-REL-1010
8 A-Share Point 4" / 100mm x 8mm Thick Extended Wear Pad PA-07416 200-PWV-0428
9 Pro Edge Point PA-08159 P18018
10 Low Disturbance Point - Tungsten PA-08155 P15957 1 x M10 x 35mm 

Hex Head &
1 x M10 Nyloc Nut

50-1003510

65-1010
11 Low Disturbance Point - Heavy Duty PA-08155HD P15957 1 x M10 x 35mm 

Hex Head &
1 x M10 Nyloc Nut

50-1003510

65-1010
12 Point - 45mm Tungsten PA-07671 H00310262 1 x M10 x 40mm 

Hex Head &
1 x M10 Nyloc Nut

50-1004010

65-1010

1

2

2
10

3

18

15

6

8 9

17

7

14 
13

12
11

5

4

16



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

27

simba
ST

S
IM

B
A

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit simba ST

13 Point - 45mm Tungsten 45mm Hardfacing PA-07671R 1 x M10 x 40mm 
Hex Head &
1 x M10 Nyloc Nut

50-1004010

65-1010
14 Point - 90mm Tungsten AG-07671 1 x M10 x 40mm 

Hex Head &
1 x M10 Nyloc Nut

50-1004010

65-1010
15 Wing (SL/SLD) PA-08145 P13812 2 x M12 x 40mm  PA-0095210
16 Wing Mini 125mm (SL/SLD) PA-08145M
17 Weld In Wing For Rape Leg PA-08160A
18 Weld On Leg Side Plate PA-08150 10146008

Leg Shear Bolt 50-16090 P20649 1 x M16 Nyloc Nut 65-1610

Press Roll Bearing PA-07894 P05431
Press Roll Bearing (500mm DD rings) BE-0053

19 DD Half Ring 600mm PA-08122 P08192
20 DD Light Half Ring 600mm PA-08158 P15186
19 DD Half Ring 700mm PA-08157 P08994

Press Spool PA-08126 P08188
Spool Shaft End PA-08127 P08190
Bearing Spool PA-08128 P08189

21 DD Scraper PA-08144 P08601 1 x M12 x 25mm 
Cup Head

60-1202510

22 DD Light Scraper PA-08146 P15085



28   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

simba
Top Tilth

S
IM

B
A

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit simba Top Tilth

1 Pigtail Tine 1" Square - Front PA-01687RH 1 x M16 x 70mm 
Hex Head &
1 x M16 Nyloc Nut

50-1607010

65-1610
2 Pigtail Tine 1" Square - Rear PA-01687A 1 x M16 x 70mm 

Hex Head &
1 x M16 Nyloc Nut

50-1607010

65-1610
3 Pigtail Tine U Bolt PA-07722 1 x M16 Nyloc Nut 65-1610
4 Speed-Loc Adaptor 57mm Hole Spacing PA-07413 200-QCA-5010 2 x M12 x 70mm PA-00954A10

Replacement Lock Pin For Speed-Loc Adaptors PA-07419 200-SLC-1020
Replacement Button For Speed-Loc Adaptors PA-07420 200-SLC-1035

5 Speed-Loc Release Tool PA-07414 200-REL-1010
6 A-Share Point 9" / 230mm x 8mm Thick PA-07410 200-PWV-0908
7 A-Share Point 9" / 230mm x 8mm Thick Extended Wear Pad PA-07417 200-PWV-0928
8 A-Share Point 12" / 305mm x 8mm Thick PA-02081 200-PWV-1208
9 A-Share Point 13" / 330mm x 8mm Thick PA-07407 200-PWV-1308
10 Reversible Point 1.5" PA-01691 2 x 7/16" x 50mm PA-0091510
11 Non-Reversible Freeflow Point 14mm Thick PA-08091 P05860 2 x 7/16" x 80mm PA-0092010
11 Non-reversible freeflow Point 11mm Thick PA-07714 P05860 2 x 7/16" x 80mm PA-0092010
12 Motherboard 8 Hole PA-08106 P07834 2 x M16 x 35mm 

Hex Head & 
2 x M16 Nyloc Nuts

50-1603510

65-1610
13 V Form Wear Pad 100 x 350mm PA-07895 2 x 7/16" x 32mm PA-0091110

Packer Roller Bearing BE-0053
14 Packer Roller Scraper PA-01685
15 Packer Roller Scraper U Bolt PA-07871 2 x M16 Nyloc Nut 65-1610

3
1

2 15
14

16

17

18

4

5

6

7

8

10
11

7

12

13



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

29

simba
Top Tilth

ta
s

k
e

r
   

| 
  s

k
h

   
| 

  S
IM

B
A

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit simba Top Tilth

16 Star Cleaner Wheel PA-01885E
17 Following Tine - Straight Single Leg PA-07550 00310081
18 Following Tine - Curved Double leg PA-07688 34217502

SKH

TASKER

1

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit SKH

1 Point PA-01786B S331454
Bolt/ Nut For Above M10 x 50mm PA-01786D S331458
Bolt/ Nut For Above M10 x 70mm PA-01785
Bolt/ Nut For Above M10 x 75mm PA-01786A

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Tasker

1 Double Heart Point PA-01560 3746 2 x M12 x 80mm PA-0091710

1



30   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

Vaderstad
Agrilla/NZ

va
d

e
r

s
ta

d

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Vaderstad Agrilla/NZ

1 Tine (Nova) PA-01628 201470
2 Tine Clamp - 50 x 50mm Grame 45 x 12mm Tine PA-10509 301417 1 x M12 x 70mm 

Hex Head
1 x M12 Nyloc Nut

50-1207510

65-1210
3 Tine (Cobra - NZA) PA-08700 428797
4 Tine (Super Agrilla) PA-08701 201064-70
5 Tine Clamp - 50 x 50mm Frame 45 x 10mm Tine PA-08702 430700 1 x M12 x 70mm 

Hex Head &
1 x M12 Nyloc Nut

50-1207510

65-1210
6 Point (Super Agrilla) PA-01612 302300 1 x M10 x 45mm 

Saddle Head
PA-01612A10

7 Reversible Point PA-07000 400523 1 x M12 x 40mm 
Oval Head

PA-0095610

8 Point - Tungsten (Marathon Point) AG-07551 423023 2 x M10 x 70mmm 
Hex Head &
2 x M10 Nyloc Nuts

50-1007010

65-1010
9 Crossboard Tine PA-07567 201787
10 Crossboard Angled Wear Pad 100mm PA-07563 415872-1 2 x M12 x 35mm 

Cup Head
60-1203510

11 Crossboard Angled Wear Pad 150mm PA-07580 420330-1 2 x M12 x 35mm 
Cup Head

60-1203510

12 Crossboard Wear Pad 100mm PA-08707 419996-1 2 x M12 x 35mm 
Cup Head

60-1203510

13 Following Tine Curved Double Leg PA-07370
Following Tine Clamp PA-07586 400976-1 1 x M12 Washer 

Grooved &
1 x M12 Nyloc Nut

PA-07586A10

65-1210
14 Following Tine Single Leg Straight PA-07550 400975
15 Following Tine Single Leg Curved PA-07554 306239

13 14
15

1

2
3

6

7

8

10

9

11 12

4

5



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

31

va
d

e
r

s
ta

d

Vaderstad
Carrier

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Vaderstad Carrier

1 450mm V55 Cultivation Disc PA-08703 466947 4 x M12 x 26mm 
Stud

PA-07598

1 470mm V55 Cultivation Disc PA-08704 179857 4 x M12 x 26mm 
Stud

PA-07598

2 Ripper Tine 465mm PA-07576 308418
3 Ripper Tine 725mm PA-07573 428578
4 Rigid Tine Point PA-01786B 2 x M10 x 75mm PA-01786A10
5 Ripper Point PA-08708 421488 2 x M10 x 75mm PA-01786A10
6 Tungsten Marathon Point AG-07551 423023 2 x M10 x 70mm &

2 x M10 Nylon Nut
50-1007010
65-1010

7 Heavy Duty Crossboard Tine PA-07568 202181
8 Tine Clamp - PA-07568 PA-07561
9 Heavy Duty Board Point -150mm PA-07580 420330 2 x M12 x 35mm 

Cup Head Bolt
60-1203510

10 Scraper Plate PA-07589 451404-1 1 x M12 x 30mm 
Cup Head Bolt

60-1203010

11 Straw Harrow Tine PA-07599 427497

Vaderstad
Cultus

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Vaderstad Cultus

1 Low disturbance point 530 x 50mm PA-07529 451592 3 x M12 x 70mm PA-00954A10
2 Share 50mm PA-06000 5155828
3 Share 80mm PA-06001 5150576
4 Crossboard Angled Wear Pad 150mm PA-07580 440603-1 2 x M12 x 35mm Cup Hd 60-1203510
5 Scraper PA-07589 451404-1 1 x M12 x 30mm Cup Hd 60-1203010
6 Cutaway Disc 450mm PA-08703 466947 4 x M12 x 26mm Stud PA-0759810
6 Cutaway Disc 470mm PA-08704 179857 4 x M12 x 26mm Stud PA-0759810
7 Following Tine Single Leg PA-07599 427497

1
2 3

7

54

6

2 3

4 5 6

8

9

7

11

10

1



32   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

Vaderstad
Rexius Twin

Va
d

e
r

s
ta

d Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Vaderstad Rexius Twin

1 Front Leading Tine 465m Long PA-07576 308418
2 Front Leading Tine 710m Long PA-07573 428578
3 Point PA-01786B 2 x M10 x 50mm 

Saddle Head
PA-01786D10

4 Tine RH (Raptor) PA-07562RH 452900
- Tine LH (Raptor) PA-07562LH 446513
5 Point 40mm Wide (Raptor) PA-07597 457243-1 2 x 7/16" x 60mm PA-00916A10
6 Point - Tungsten (Raptor) AG-18051 2 x M12 x 60mm PA-00954B10
7 Ripper Point (Raptor) PA-08708 421488 2 x M10 x 75mm 

Saddle Head
PA-01786A10

8 Tungsten Point (Marathon) AG-07551 2 x M10 x 70mm 
Hex Head &
2 x M10 Nyloc Nuts

50-1007010

65-1010
9 Heavy Duty Crossboard Tine 80mm Wide PA-07568 202181
10 Crossboard Tine Clamp - 70 x 70mm Frame PA-07561
11 Crossboard Angled Wear Pad 150mm PA-07580 440603-1 2 x M12 x 35mm 

Cup Head
60-1203510

12 Roll ring 465m PA-08705 301002
13 Breaker ring 480mm PA-08706 301012

12

13

1 2

4

3

5

6

7

8

10

11

9



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

C
u

lt
iv

a
to

r
s

33

Va
d

e
r

s
ta

d

Vaderstad
Topdown

191 32 4 5

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Vaderstad Rexius Twin

1 Low Disturbance Point 530 x 50mm PA-07529 451592 3 x M12 x 70mm PA-00954A10
2 Point 50mm Wide (pre-2011) PA-07581 447152.1 1 x M12 x 70mm

1 x M12 X 60mm
PA-00954A10
PA-00954B10

3 Point 80mm Wide (pre-2011) PA-07583 444989.1 1 x M12 x 70mm
1 x M12 X 60mm

PA-00954A10
PA-00954B10

4 Point 120mm Wide (pre-2011) PA-07584 444897.1 1 x M12 x 70mm
1 x M12 X 60mm

PA-00954A10 
PA-00954B10

5 Point 50mm Wide (pre-2011) - Tungsten AG-18012 1 x M12 x 100mm
1 x M12 x 65mm (12.9)

PA-00955A10
PA-0098810

6 Point 60mm Wide (pre-2011) - Tungsten AG-07593 2 x M12 x 70mm PA-00954A10
7 Point 100mm Wide (pre-2011) - Tungsten AG-18050 1 x M12 x 80mm (10.9)

1 x M12 x 65mm (12.9)
PA-0095510
PA-0098810

8 Point 120mm Wide (pre-2011) - Tungsten PF07584 1 x M12 X 60mm PA-00954B10
9 Point 50mm Wide (2011 Onwards) PA-07591 488444.1 2 x M12 x 55mm PA-0094910
10 Point 80mm Wide (2011 Onwards) PA-07592 489233.1 2 x M12 x 55mm PA-0094910
11 Point 80mm Wide (2011 Onwards) - Tungsten AG-07592 2 x M12 x 55mm PA-0094910
12 Share 50mm PA-06000 5155828
13 Share 80mm PA-06001 5150576
14 Mix In Shin 50mm PA-07593 483233-1 2 x M12 x 70mm PA-00954A10
15 Mix In Shin 80mm PA-07594 482278-1 2 x M12 x 70mm PA-00954A10
16 Wing RH PA-07595 447150 2 x M12 x 70mm PA-07595B10
17 Wing LH PA-07596 447151 Hex Head (12.9)

18 Scraper PA-07589 451404-1 1 x M12 x 30mm 
Cup Head

60-1203010

Disc Bearing (2018 Onwards) PA-08709 152271
19 Cutaway Disc 450mm PA-08703 466947 4 x M12 x 26mm 

Disc Stud
PA-0759810

19 Cutaway Disc 470mm PA-08704 179857 4 x M12 x 26mm 
Disc Stud

PA-0759810

18

16

6 7 8

9
10 11

14 15

712 13



34   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s
w

il
r

ic
h

   
| 

  W
IB

E
R

G
   

| 
  V

IC
O

N

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Wilrich

1 Point 2 1/2" PA-01621B
2 Point 2 1/2" Slotted Bolt Hole PA-01621BSL

Tension Spring PA-07050

1 2

Wiberg

wilrich

Jumbo Buster

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Vicon Jumbo Buster

1 Point PA-07590 1 x M12 x 40mm 
Oval Head

PA-0095610

2 Following Tine 9mm Thick PA-07509
3 Following Tine 12mm Thick PA-07510

1

2
3

VICON
Jumbo Buster

Image 
No.

Description PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

to fit Vicon Jumbo Buster

1 Point PA-01601 2 x 7/16 x 35m PA-0091210
2 Forged Chisel Point PA-01694 2 x 7/16 x 35m PA-0091210

1 2



Call us: 01787 242740	 Follow us on social media @pananglia

All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

www.pananglia.com       Follow us on social media @pananglia

H
a

r
r

o
w

 D
is

c
s

35

harrow discs

Image 
No.

Diameter Type Size & Hole 
Type

To Fit PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

1 20" 6mm Thick Cutaway Opico Vari-Disc PA-08130 990183 5 x M12 x 20mm 50-1202010
2 20" 7mm Thick Cutaway Opico Vari-Disc PF08130 990183 5 x M12 Spring 

Washer
72-1210

1 20" 6mm Thick Cutaway Simba X-Press PA-08130 820-460C 5 x M12 x 20mm 
Fine

PA-0816310

2 20" 7mm Thick Cutaway Simba X-Press PF08130 820-460C 5 x M12 x 20mm 
Fine

PA-0816310

3 24" 7mm Thick Cutaway Simba X-Press PA-08129 820-461C
4 24" Plain 41.5mm Sq Parmiter Utah PA-00704C 21606012
5 24" Cutaway 41.5mm 

Sq/47mm Rnd
Parmiter Utah/
Simba

PA-00714B 21606013

6 24" 7mm Thick Cutaway 41.5mm Sq Parmiter Utah PF00714 21606013
7 24" Plain 50mm Round Pettit/ Dowdeswell PA-00704E 207600
8 24" Cutaway 50mm Round Petit/ Dowdeswell PA-00714E 207500
7 24" Plain 47mm Round Simba PA-00704G P0274
9 26" Plain 45mm 

Rnd/40mm Sq
Parmiter Utah/
Simba

PA-00760 21606039/
P0278

10 26" Cutaway 45mm 
Rnd/40mm Sq

Parmiter Utah/
Simba

PA-00761 21606040/
P0280

11 26" 7mm Thick Cutaway 45mm 
Rnd/40mm Sq

Parmiter Utah/
Simba

PF00761 21606040/
P0280

12 26" 6mm Thick Plain 50mm Round Petit/ Dowdeswell PA-00705C 207300
13 26" Cutaway 50mm Round Petit/ Dowdeswell PA-00715C 207400
9 26" Plain Besson PA-00760
10 26" 6mm Thick Cutaway Besson PA-00779
9 26" Plain Quivogne PA-00760
10 26" Cutaway Quivogne PA-00761

1 2 3 4 5

6 7 8

9 1210 1311

20" 24"

26"



36   All parts are listed are supplied to fit the machine indicated and are not sold as genuine parts.    |    Colourised parts are for demonstration purposes only.

Bold orange text indicates our 
high-performance Performa parts. 

Call us: 01787 242740       Email us: sales@pananglia.com
C

u
lt

iv
a

to
r

s

harrow discs

28"

30"

Image 
No.

Diameter Type Size & Hole 
Type

To Fit PA Part 
No.

Manufacturer 
Part No.

Fasteners 
Per Part

Fasteners 
Pack of 10

1 28" Plain Parmiter/Simba PA-00767 21606041/
P0281

2 28" Cutaway Parmiter/ Simba PA-00766 21606042/
P0282

3 28" 7mm Thick Cutaway Parmiter/ Simba PF00766 21606042/
P0282

1 28" Plain 50mm Round Petit/ Dowdeswell PA-00771 4DH1231
3 28" 7mm Thick Cutaway 50mm Round Petit/ Dowdeswell PA-00770 4DH1232
4 30" Plain Simba PA-00774 P0283
5 30" Cutaway Simba PA-00775 P0284

1 2 3

4 5


